1IS09001:2000 g' S5
CHy CHUANGYI F‘N;!’ﬂg;l]t:!

ISO/VDMA B S &L

ISO/VDMA Series Cylinder

PRA /182000 PRA /182000 /M S{E S
PRA/182000,PRA/182000/M Double Action

#34E | Character EFHFS | Graphic Symbol
T4 1506431, VDMA24562 %A1 NFE49-003-1 54

iTM945 | Ordering Code

P[l]AI182-@l / [l] / C?]/C?]

EE R i = TR BMEER) TR ( FHHUEFE T8 (mm) MKEE(nm)
R: THWN (FEK) Cvlinder Bore M FRAER I RRER Stroke Lenathen Extent
C: BEBER 032: 32mm W2 4EEERFA / EBEH W1 $HBL/ BH 3000 max. LAHIN: MU, W6, |U, W5 BFIEEIR
S THW (ZEKE) 040: 40mm X2 KB X1 KB BY
Piston Rod Material 050: 50mm MG: FRIPEETEN 6 FRIPEEFEHN
R: Stainless Steel 063: 63mm MW: Joigmal W TCigB
(Martensite) 080: 80mm X4, REETEGR X3 KEBEELTE G
C: n. Hard Chromium 100: 100mm UM XUKIEEMN J: KR
S: Stainless Steel 125: 125mm We: RKERHHDL /BH W3 WABENBFRGL/ BH
(Martensite) MT . PO{zH | T. DO4rH
N2 . WE3EEM N EEERN
L4: HHigeEs L2: HPEeEs
MIL: BESEEMBIEST 07 11L: HE0A/8000/61/% SREETFALET 90°
MU fnd€iE 24 U s A
W6 MGERST. HBHL/ BH W MKEEN, BRBL/ BY
Fe ZRREAMRNGE, EATRASEMNEREARFARARREBEE.
$#& | Specification
E¥ L
5 . PRA/182000 PRA/182000/M
Series
%(Iﬁ?::tpauem AN Adiustable Buffer HIESE, MBEN  Maanetic Piston, Adiustable Buffer
THEES o
Working Pressure 1 16bar




1ISO09001:2000

Lony

Sl =T
Bl @@ S &l
CHUANGY| PMEUMATIC

1ISO/VDMA B S &L

ISO/VDMA Series Cylinder

"/,
N H ﬂ' sm A
gl ﬂ:/ R . ] — L8+ i
verall Dimension vl e E
PRA/182000, PRA/182000/M w_r _ o]
AM L12 EE KA WP | EE
[™ ww |
\ | ;H [
&l ol &
e = % = = B &
FRAESEL 24 L €) J :
. —I = n
Standard Cylinder w \ewan e
— Lo
B
2 80-125 mm
5%/ 52
Some i Svn:?l;ol AM AP ¢ B % BA BG | BH(A/F) O EE G KK KV(A/F) KW L2
32 22 3.5 30 30 18 6 47 G1/8 27.5 M10 X 1.25 17 5 20
40 24 45 35 35 18 6 53 G1/4 32 [M12x1.25 19 6 22
50 32 6 40 40 18 8 85 G1/4 31 M16 X 1.5 24 8 27
63 32 10 45 45 175 8 75 G3/8 33 | M16X15 24 8 29
80 40 8.5 45 45 21.5 19 95 G3/8 33 |[M20X15 30 10 33
100 40 9 55 55 21.5 19 115 G1/2 37 [ M20X15 30 10 36
125 54 10 60 60 30 24 140 G1/2 46 M27 X 2 41 13.5 45
5%/ 52
Bmwswim L8 L9 L12 O MM PL o R RT | SW(A/F) VA VD WH | £omm | &25mm
32 94 4 6 12 13 325 M6 10 3 6 26 0.51ka | 0.06ka
40 105 4 6.5 16 15 38 M6 13 3.5 6 30 0.80kg | 0.08kg
50 106 5 8 20 18.5 46.5 M8 17 35 6 37 1.33ka 0.12kg
63 121 5 8 20 19 56.5 M8 17 4 6 37 1.80kg 0.13kg
80 128 - 10 25 19 72 M10 22 4 6 46 3.25kg | 0.20kg
100 138 - 10 25 18 89 M10 22 4 6 51 4.81kg 0.23kg
125 160 13 32 22.5 110 M12 27 6 15.5 65 8.00kg 0.33ka

TRISHT [ N.

Modification Cylinder

PRA/182000/J, PRA/182000/ M—i T3k TE EM S 4T

ZM +2 x 742

L8 + 4142

L
{510
=
1]
iz /e

Bore / Symbol e L
32 146 94
40 165 105
50 180 106
63 195 121
80 220 128
100 240 138
125 290 160

PRA/182000/ 1T, PRA/182000/MT— IO S 5T

L0+ 181+ 82

L8+ 471

L1

L8+ 572

PRA/182000/N1, PRA/182000/N2—i |F 468 AT S 5T

A sSwW1
1= 111
® %
[ M— |
N 11
B
1z / e
Bore / Symbol S

32 10

40 13

50 16

63 16

80 21

100 21

HE/ FE

Bore / Symbol — Ll L
32 94 247 7
40 105 278 8
50 106 294 8
63 121 325 9
80 128 357 9
100 138 387 9
125 160 462 12




®

=
Bl @@ S &)
CHUAMNGYI PNEUMATIC

1ISO9001:2000

Lony

ISO/VDMA B S &L

ISO/VDMA Series Cylinder

RA,/8000,.../M X{EH
RA/8000,.../M Double Action

EFF5= | Graphic Symbol

=1

#34E | Character

F& 1506431, VDMA24562 F NFE49-1 xfE

JTJAS | Ordering Code
T U

(M)
' ' '

BHETE FEFER B8 25 i & TH( FHMFE) TH( HMEE) T8 (mm) MEBEE(mnm)
T: WHREH, |R:FAERBEME |4 AHSO |8 8000 %% | CylinderBore X R W dRRER Stroke LengthenExtent
150°C max. C: EHEsE (150 228:G1/ | Series 032: 32mm Wi: $59RRL / B W2 45HRL / B 3000 max. LTRK: MU, W6,
Specialvariable | S: FHW(BEME |8 & 61) 8:8000 Series | 040: 40mm X1: {REE X2. {REE U, ¥5 MtIEH
T: Thermostabil- | PistonRodMaterial ScrewThread 050: 50mm 6 HRPEEEEN HG: HIRIFREEER
ity Aimroof 150 | R: Stainless Steel A Metric 063: 63mm W. T L3
T max. {Martensite) Aimort{ISO 080: 80mm X3: [REETEME X4 [REETE M
C:n. Hard Chromium | 228: G1/8 to 100: 100mm J: RKEEF I KBRS
S: Stainless Steel Gl 125: 125mm W3: WLEERSHI L/ BH W WKFEERE
(Martensite) 160: 160mm IT: MR N
200: 200mm N SRR M. mzR
250: 250mm L2: SHELE N2 ESEEEM
320: 320mm PI: HRENEFSECESE, £N L4 BHELE
54 WU MAKTEE
P2: HREFATEUESI, £ W6 MKEEN. 5%E
el 4/%H
P3: HRETHHSTHESE. BN
e
P4: HETHAS EMETL, AN
e
Ps: HHITFEUESH, £NRE
#
Po: HEHITFELESE, £NRE
#
P HAEMFEUESE. BRE
#
P8: HAEMNFEEESL, BNRE
#
1U: MATEEH
Wa: KEER. WL/ T
F: ZRAEAMERMCE, EATAKIEMNEEARNFAERRESBREE.
#EEER ##: REER
$#& | Specification
75
. RA/8000 RA/8000/M
Series
%!ﬁ?:fpauem RUEMARXAFER  Double Action Model Adiustable Buffer HIEEE, RIEAMRABED  Double Action Model Adjustable Buffer

TIEESR

Working Pressure

1~10 bar




1ISO09001:2000

Ch!

B! im = ]

CHUANGY| PNEUMATIC

1ISO/VDMA B S &L

ISO/VDMA Series Cylinder

SMER~F | Overall Dimension

L2 | Installation

RA/8000, RA/8000/M

A
_L WH L8+/T 2 A-B
L2 G G
‘ wD PL i PL| VA
AM L12 EE * I E'E
I kw i
. 8 B qe e
5| T Wi < z
— =l
IL -
KV \Sw L9 oz
| BG
B * GRTRAT . -
¥ m
$80~320mm s
BG
Hiz/ S
Bore / Symbol AM AP $B,, | $BA.,, BG | BH(A/F) OE EE G KK KV(A/F) KW L2
32 22 3.5 30 30 18 6 47 G1/8 275 [M10X1.25 17 5 20
40 24 45 35 35 18 6 53 G1/4 32 [M12X1.25 19 6 22
50 32 6 40 40 18 8 65 G1/4 31 M16 X 1.5 24 8 27
63 32 10 45 45 17.5 8 75 G3/8 33 M16 X 1.5 24 8 29
80 40 8.5 45 45 21.5 19 95 G3/8 33 M20 X 1.5 30 10 33
100 40 9 55 55 21.5 19 115 G1/2 37 M20 X 1.5 30 10 36
125 54 10 60 60 30 24 140 G1/2 46 M27 X 2 41 13.5 45
160 72 18 65 65 28.5 32 183.5 G3/4 50 M36 X 2 55 18 58
200 72 18 75 75 28.5 32 224 G3/4 50 M36 X 2 55 18 67
250 84 225 90 90 35 36 280 G1 58 M42 X 2 65 21 80
320 96 225 110 110 30 46 350 G1 60 M48 X 2 75 24 90
S L8 L9 L12 o MM PL OR RT SW(A/F) VA VD WH 7£ Omm | 7 25mm
Bore / Symbol (2
32 94 4 6 12 13 325 M6 10 3 6 26 0.51kg | 0.06kg
40 105 4 6.5 16 15 38 M6 13 3.5 6 30 0.80kg | 0.08kg
50 106 5 8 20 18.5 465 M8 17 3.5 6 37 1.33kg | 0.12kg
63 121 5 8 20 19 56.5 M8 17 4 6 37 1.80kg | 0.13kg
80 128 - 10 25 19 72 M10 22 4 6 46 3.25kg | 0.20kg
100 138 - 10 25 18 89 M10 22 4 6 51 4.81kg | 0.23kg
125 160 13 32 22.5 110 M12 27 6 15.5 65 8.00kg 0.33ka
160 180 - 16 40 21 140 M16 36 4 15 80 14.9kg | 0.55kg
200 180 - 16 40 21 175 M16 36 5 15 95 21.7kg 0.60kg
250 200 - 20 50 29 220 M20 41 7 13 105 32.6kg | 0.92kg
320 220 - 24 63 30 270 M24 55 7 13 120 59.8kag 1.46kg






